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CIRCLES
AREA OF SHADED REGIONS

Ref: (}473.2 R1
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Find the area of the shaded region.
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A2
Find the area of the shaded region.
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A3
Find the area of the shaded region.
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Find the area of the shaded region.

4

-« 72cm ——

B1
Find the area of the shaded region.
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B2
Find the area of the shaded region.

B3
Find the area of the shaded region.
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B4
Find the area of the shaded region.
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C1
Find the area of the shaded region.
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C2
Find the area of the shaded region.
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Find the area of the shaded region.
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C4
Find the area of the shaded region.
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CIRCLES ' '
AREA OF SHADED REGIONS s SHADED AREA = OUTSIDE SHAPE - INSIDE SHAPE(S)
Al W —gx1.7% =248 cm? A2 7.8% -1 x3.9% =131 cm’ 1:236x63 o X 3A57) = 17.0 o A47.2x3.6_7cx23.62 _ 556 oy’
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